Primary no treatment

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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Metastasis no treatment

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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Primary gemcitabine

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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Metastasis gemcitabine

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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Primary FOLFIRINOX

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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Metastasis FOLFIRINOX

Y axis: Tumor volume/102 (cm3)
X axis: Months
line: logistic model

dotted line: exponential model

red square: data
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